H 45 BE 2125 DGP/DGPL FESTO

L EEPEESLEIAN

WO R > B R

W PERE ] §E - 6 % AR 40,000 km
W R E

W R

W A R

B EATEXIE SR EER » W ARABERIELR
K TAEBRE > www.festo.com.tw

FEANEE AR
=> DVD-ROM #fI xdki.festo.com.tw
EREERE
i #15( HEALD (172 fER EZ2 3] > =i
[mm] [mm] IN] PPV [A GK |SH [sv
L] AEE e 18,25,32, [10..3,000 [153..3,016 | m | - - | - J196
GF T il S i) 28 40, 50, 63, 80 u ] ] ] m (199
K 3021 B 2 Rl 28 [ 26 ] ] ] ] B [1-99
MER L ABE 31 18, 25, 40 10..2,160 |153...754 ] ] ] - — | DpvD-ROM
GA » Bh T 18,25,32,40(10..3,000 [153..754 u ] ] ] ® [DVD-ROM
P23
PPV Pt EL A AT AR ARl 4 KH BB HLIE » &1 SH - &I AK AR
A A7 B IRk KU #eZHIG > N SV M HI U RE > RUE A
Kv A ZHLIE » HiTE GK  HREEEEE)A /1 D2 MR
GV InREEE A/ FK I

2% — )T — Subject to change — Key products, GCC-TW 1-95



SRR SR
W A

[N

B4R E25 DGP FESTO

HWi 2% - P AR EWEE

FHEL
HigE ~ AhE  BEEE:
Wt 4 AL 85

B4k T i 4

B 2 T3 CAD AHBZEEl D xdki.festo.com.tw
i HAE 0 18 25 |32 4 |50 63 80
O M5 GYB GYa G¥8 GYa
I s EL A T AR o
RERE [mm] 16 18 20 30 83
6 bar I iy B i 1F 1 N] 153 [295 483 [754 1,178 [1,870 [3,016
BRARHEN IR N] -
BRATIERIF, IN] 120 [330 [480 [800  [1,200 [1,600 [5,000
B F 1A My [Nm] 05 1 2 4 7 8 32
IR IIE My [Nm] 11 20 40 60 120 120 750
N (Nm] 1 3 5 8 15 24 140
FIFE 0 mm By R JE [mm] 150 [200 {250 [300 [350 400 520
FE [mm] 34 45 54 64 90 106 [130
[Z [mm] 50 63 62 72 99 115 141

T

HEHE O 18 |25 32 40 50 63 80

TAERE S [bar] 2..8 1.5..8

B ED °C] —10... +60

1) RO R ) TAE R o

1-96 Key products, GCC-TW — Subject to change — 5 — it




B4R DGP FESTO

WA

bGP |— — — v | A~ |4 B | oK
ik 4
DGP B
HEHR O [mm]
18 [mm]
18 10.... 1800
25,32,40, |10...3000
50, 63, 80
EEER
PPV | P 3 B ] 8l 2
Az B BHl
A T i 1l
E3i|
B B &7
HEARR
ok BETERE
TREH:
DGP-63-100-PPV-A-B-GK
Eap=d Ll

UL AU - AR E
45 0 25 DGP I 45 1 ©

N

T < — W cC O
=Rt ot A

1%

2% — )T — Subject to change — Key products, GCC-TW 1-97

SRS SR AL
W GRS

_
.



DGP FESTO

R CAD => xdki.festo.com.tw
FEAR] - & 18 mm
30 01
24,2 M5i | i iu_:,_zoo.z 28
I 3
2 e [T ooo ] M
m ol X A <
I N ) © A - RE 2 o
S| = N — m @ o : r I
= o 0 e Y e
Nols | 16 .
MS | 24 | NM5 2 n 7 3
34 15.5 75
150+
06"
i
& il R & A |
e\ =
4 — @ |
e 13
60 <01 M5l | W
85
3 + =
HP
FEAH] - 25 mm
38.8 ) i
2 t =
W = EONEE
m o
o i
S c in Z S
n IN S
aelly & JF
<
~
325 G1/8 = B
45 25
200+33
=ﬁ‘=
o | T
> P | !
-—-—
|
3

1-97.1 Key products - Subject to change


sg0cts



DGP FESTO

R CAD => xdki.festo.com.tw
FEAH] - 32 .80 mm
& 80 32..63

45 |—

Mg _ o2
H
¢@

A {_|
®

770 - NI
- oD o
“
18 72
102
HL
if e m
Py it L L L it o
g iy
L8
3
HP +y =
RIRF
32 40 @50 63 &80

2
il S
X
z N (g]

Subject to change - Key products 1-97.2


sg0cts



DGP FESTO

(%] B1 B2 B3 B4 B5 B6 B11 D2 D3 D4 D5 D6 EE H1 H2
(%) (%)
[mm] +0.2 +0.2 H10
32 54 35.8 19 46 21 40 9.5 4.3 5.2 M5 8 M5 GYs 72 66
40 64 45.7 21 53 28 49 6.5 M6 10 Y4 86 78
50 90 69.2 24 76 44 72 12 6.3 8.5 M8 12 M6 (73 115 106
63 106 84.8 89 83 M8 G3¥/8 131 122
80 130 102.5 36 - - - - - 12.2 M12 20 - GY2 174 158
(%] H3 H4 H5 H6 )1 )2 3 J4 L1 L2 L3 L4 L5 L6
[mm] +0.9/-0.2 | +0.3/-0.6
32 62 23 27 5.8 19 4.2 14 4.7 250 125 17 8.5 31 135
40 71.8 26.5 32 7.7 22 5 21 9.1 300 150 11.5 11.5 171
50 99 36 45 9.7 31.8 6.8 29.3 6 350 175 14 14 34 206
63 115 44.5 53 36 8 31 14 400 200 234
80 140.5 51 65 - 33.3 3.6 520 260 19 19 45 334
(%] L7 L8 L9 L10 L11 L12 L13 L14 L15 L16 122 T1 T2 T3
[mm] +0.15 | +0.9/-0.2 | +0.3/-0.6 | *0.1 +0.1 +0.1 +0.1
32 50:0.1 100+0.1 30:0.1 - 380 190 180 - 160 230 265 13.2 3 7.5
40 70:0.1 130+0.1 40:0.1 470 235 160 250 220 - 341 4 10.5
50 80:0.1 150+0.1 50:0.1 550 275 280 - 250 350 406 15.2 6 12.5
63 110+0.1 190:0.1 70:0.1 650 325 380 310 430 484 21.2
80 180:0.15 | 230:0.15 | 115:0.15 60 - - - - - - - - 19

1-97.3 Key products - Subject to change


sg0cts



B4R E25 DGP FESTO
T T
L @%
o %
- (6]
<&
g!;%?’ &
A SR
3 9 B)
z
[1]  ARERE A 1-102
JIEE B RE FKP 1-102
B[ E A GRLA 1-103
Wi NE 25 ABP/ABP-S 1-102
I He M 4F SME-/SMT-8 1-103
l6] HEEGE SIM 1-103
TEFEUZIE » F Y2225 1S NST 1-102
8]  FRIHEMA MUP 1-102
[o]  M&Eaessif Hp 1-102

1-98

SRR SR T
W RS

[



AR SR AT
W A

[N

HiGBEEES DGPL FESTO

HAT 28 - DGPL B4R H: W
. R
| S~ AN B ~
K [ % i S AL 8
B i Aol
LR
GF: [t 42 1t £
KF: &5 18: 4
KF: @& 32 ... 80z [iif Ji& filt 4]

BT 28 - HAR M GF F# CAD #HBEZ Rl = xdki.festo.com.tw
hEHE O 18 25 |32 4 |50 63 80
HE M5 GYs GV G¥s G2
EX RN ity EL A 8 4% 1 2
R [mm] 16 18 20 30 83
6 bar ¢ B 1R F IN] 153 295 483 754 1,178 [1,870 [3,016
RRB AR IN] 340 430 430 1,010 [1,010 {2,000 [2,000
BRETFERIIF, IN] 340 430 430 1,010 [1,010 [2,000 [2,000
BREZ 5 M, [Nm] 2.2 5.4 8.5 23 32 74 100
R KA IR My [Nm] 10 14 18 34 52 140 230

) g - BRRFHEM, [Nm] 10 14 18 34 52 140 230

H = p=w) T
Sy TR 0 mm BF B JE [mm] 150 200 250 300 350 400 520
* B [mm] 50 63 72 86 115 131 174

MIEATILE © =i mml |57 69 78 91 123|145 |175

Fitfi 28 - 15 B TR A, KF F# CAD #HBHZ Rl = xdki.festo.com.tw
WHEHE O 18 25 |32 4 |50 63 80
HE M5 GYs GV G¥s G2
EERIEN P i LA VT R R T
R [mm] 16 18 20 30 83
6 bar ¢ EER 1R F IN] 153 295 483 754 1,178 [1,870 [3,016
RRBHER I IN] 930 3,080 [3,080 [7,300 [7,300 [14,050 |14,050
RRAETHERIIF, IN] 930 3,080 (3,080 [7,300 [7,300 [14,050 [14,050
BRAZHE M, [Nm] 7 45 63 170 240 580 745
A F I My [Nm] 23 85 127 330 460 910 1,545
R M, [Nm] 23 85 127 330 460 910 1,545
TR 0 mm BF B JE [mm] 150 200 250 300 350 400 520
JIF [mm] 50 63 72 86 115 131 174
EE [mm] 57 69 78 91 123 145 175

TR

WEHED 18 25 |32 40 50 63 80

TAERE [bar] 2.8 1.5...8

BERED (] ~10... +60

1) RO R ) TAE R o

1-99




HiZBEE) 2 DGPL FESTO

WA

DGPL  |— — —pev | A |- B |- —J ek |-

ik 4
DGPL EIEET TS
BEER O [mm]

78 [mm]
18 10.... 1800
25, 32, 40, 10 ... 3000
50, 63, 80
B
PPV | P 3 B 1] 8l 2
A7 BB
A | 33 A e e 2
#5
B B &7
LAk
GF T R e 2
KF 10 ] 52 A o 2 ) 2
HAgH
GK | 1 ) 25/
BREEME
SH e R A
Y T AT
TEEH:

DGPL-63-100-PPV-A-B-KF-GK-SH

T £ B

- NETeE—Y
EE

Q
Gp % I R 25 1 4 A B 37 A B A
l\[KFW EE®h#% DGPL A4l <

T < — W cC O
=Rt ot A

% ‘/R 1%
H\) ;Gk/sv
N
).
\v
9/ %y 'E

1-100

RS R L
W RS

[y
.



13

DGPL

FESTO

R CAD => xdki.festo.com.tw
LA - F 18 mm
3 P 3
™ 25 g
ST
Z e
R 1 1[ ]F 777777 ——
=0 F——————— & & 0=
20:04
20003
10«04
° % slo YP ° o=
® @ e o 9
|| ) | 4
85" FEA RS
150+ = 1-301
ZBS5 . =
R CAD => xdki.festo.com.tw
FEAH] - 25 mm
67
o 10502
324015 n o9
017" 6] = M6 3
L RsERSY s Eﬁgg‘
o) ) ) ) N e
) —— : T
E % | | i
‘ @ = I & S g‘? &
i
225 EE
63 200+:83
=0
S © 2
FEA RS
404003 = 1-301
7BH-9  [6]
NSTL-25 + =
1-100.1

Key products — Subject to change


sg0cts



DGPL

R CAD
FEAH] - 32 .80 mm

FESTO

=> xdki.festo.com.tw

W)
5!
[T ] =
i T "
1
EE
H1 i 119 L18  L19 i
1 M = o
° \ @
— — A R
L1+ = 1-302
ZBH-9 (6]
NSTL +
o] B3 B7 B8 B9 B10 B11 B12 B14 D1 EE
[mm] +0.2 +0.03
32 19 63 79 47+0.15 20 9.5 112.1 67.6 - GYs
40 21 78.5 96.5 55:0.2 137.6 79.6 M5 GY4
50 24 97 122 72:0.2 40 12 - - -
63 121 142 90:0.25 G3¥/8
80 36 151.5 188 112+0.5/-0.2 - GY2
o] H1 H5 H7 H8 H10 H11 H12 H13 L1 L2
[mm] +0.9/-0.2 | +0.3/-0.6
32 72 27 77.5 18.5 93.1 - 49.5 34.1 250 125
40 86 32 90.5 20 106.6 23.1 54 36.1 300 150
50 115 45 122.5 26 - - - - 350 175
63 131 53 144.5 30 400 200
80 174 65 175 36.5 520 260
%} L17 L18 L19 L20 21 123 L24 L25 T4 T5
[mm] +0.03 +0.03 +0.1 ok
32 131+0:2 40 - 261 40 131 - - 12.5 -
40 167+0-2 40 337 167 150 58 7
50 202+0.2 402 80 - - - 18.5 -
63 230+0.2 480 120 20.5
80 320_03 - - 27

Subject to change - Key products

1-100.2

13


sg0cts



SRR SR T
W GRS

[y

HiZEEE) 2 DGPL FESTO

BLib ST %

(6]

[9]
B > H i
AR i 2% YSR-C 1-102
R AR A 2% S Z8 KYP 1-102
TEREURIE - FH A M B NSTL 1-102
S 7 &5 /1 ZBS/ZBH 1-102
B[ E A GRLA 1-103
W 2% ABP/ABP-S 1-102
l6]  TH:BMIE SME-/SMT-8 1-103
EEBEIHE SIM 1-103
TEFEUZIE » Y225 1S NST 1-102
[o]  FRIZHEMA MuP 1-102
JAE 2235 1 HP 1-102
- B BR s AR AL A 2-75
- B Bt/ 9 A A 2-77

1-101




E 5 BE#E S DGP/DGPL FESTO
LIp-8-e LIp-8-e )
lmag o | |mige |
JRIZE 230 TR > R 2B
i 18 HP-18 §;;;> 25 NST-HMV-M4
E 25 HP-25 32,40 NST-5-M5
““ 32 HP-32 50, 63, 80 NST-8-M6
> 40 HP-40
50 HP-50 PV T S5 1) A B > 8 A DGPL
63 HP-63 25 NSTL-25
80 HP-80 = 32 NSTL-32
40 NSTL-40
Hh [ S A 50 NSTL-50
B 18 MUP-18/25 63 NSTL-63
gg 25 MUP-18/25 80 NSTL-80
\ @5@ 32 MUP-32
40 MUP-40 SE v 857 3 I #ADGPL
50 MUP-50 Cg} 18 7BS-5
63 MUP-63
80 MUP-80
ERrED > 3 7 DGPL
GBS - 8 At DGP . 25, 32, 40, 50, | ZBH-9
18 AK-18 63,80
25 AK-25
32 AK-32
m Y TR - R
50 AK-50
3 263 P S5
ﬁgggééz 32,40 ABP-5
FisE A% 18 S DGP 50, 63, 80 ABP-8
18 FKP-18
25 FKP-25/32 mﬁ&@m”%&(ﬁ*@
32 P 25732 18, 25, 32, 40, | ABP-5-S
40 FKP-40 50, 63, 80
0 FKP-50/63 ) TR B0 o
63 FKP-50/63 2) AR ILHYR B 2x05m ©
80 FKP-80
TR 4% fEr 4% > 1 FH S DGPL
18 YSR-8-8-C
25 YSR-12-12-C
32 YSR-12-12-C
40 YSR-16-20-C
50 YSR-16-20-C
63 YSR-20-25-C
80 YSR-20-25-C
TR 4% Ml % S 42 - 38 FIA DGPL
18 KYP-18
25 KYP-25
32 KYP-32
40 KYP-40
50 KYP-50
63 KYP-63
80 KYP-80

1-102

SRR SBAL
W A

[N
.



SRR R AT
W A

[y

Eﬁﬁﬁl%ﬁ DGP/DGPL FESTO
MR - R > MRS % WREN - EE i 20> 4273
| 75k | 75k
iR T8 - N/O ek 2 J
SMT-8F-PS-24V-K2,5-0E SIM-M8-3GD-2,5-PU
SMT-8F-NS-24V-K2,5-0F M SIM-M8-3GD-5-PU
SMT-8F-7S-24V-K2,5-0F SIM-M12-3GD-2,5-PU
SMT-8F-PS-24V-K0,3-M8D % SIM-M12-3GD-5-PU

SMT-8F-NS-24V-K0,3-M8D

SMT-8F-PS-24V-K0,3-M12

SMT-8-PS-K-LED-24-B

AT

SMT-8-PS-S-LED-24-B

SIM-M8-3WD-2,5-PU

SIM-M8-3WD-5-PU

JURE T # - N/C fil

2

SMT-8F-P0O-24V-K7,5-0E

SIM-M12-3WD-2,5-PU

SIM-M12-3WD-5-PU

TRER - BRI o PR HES S S )

fih 35 BB — N/O i Bh
SME-8F-DS-24V-K2,5-OF
SME-8F-DS-24V-K5,0-0F
SME-8F-25-24V-K2,5-OF
SME-8F-DS-24V-K0,3-M8D

= SME-8-K-LED-24
& SME-8-5-LED-24
i 3% B BH — N/C fil

N

SME-8F-D0O-24V-K7,5-0E

e WAL |E itk
%)
BAL | S
%)
H & o i B i Ak BT ZH D 3-115
18 M5 |6 GRLA-M5-QS-6-D
25,32 GYs |8 GRLA-/5-QS5-8-D
40, 50 GY4 |8 GRLA-Y4-QS-8-D
63 G¥%s |8 GRLA-¥5-Q5-8-D
80 62 |12 GRLA-Y2-Q5-12-D

1-103

1) P BT I, 2 P S L. % 3% B ) B0 0 B A SRR T 3 B,
A SR R L 22 A T+ 50% PN, TR, 0 0 R 8 00 8 38 B A SR /D ) A3




DGP/DGPL FESTO
RSP FHE:
( ) F
18
AU
= A
e [ Fee | 4
fmim Bl
SR\, Lﬂ i U o P
o @
: e S e |=
i Ie . mal = She
i s \o/ LR
[} »
= o) - @ 25-..:80 AU
AO
== & . [ @08 | . |
< @%g
& E!
2} @ |
zf | o ||
) SA+ b=
HP-25
e e AB AH AO AT AU SA TR o
%) 1%} GK GV
[mm] g]
18 5.5 24 4.8 3 13.2 176.5 256.4 24 59 158 472 HP-18
25 5.5 29.5 6 3 13 226 326 32.5 61 150731 HP-25
32 6.6 37 7 4 17 284 414 38 117 150732 HP-32
40 6.6 46 8.5 5 17.5 335 505 45 188 150733 HP-40
50 9 61 11 6 25 400 600 65 243 150734 HP-50
63 11 69 13.5 6 28 456 706 75 305 150735 HP-63
80 13 85 12 8 28 576 - 72 620 158 453 HP-80
Subject to change - Key products 1-103.1

13


sg0cts



DGP/DGPL FESTO

MUP ek
( M)
@18 Fl 25 @32..63
I s =
e - P i
6 ol E i [lee
1 -
H o Y an Y
Y
RN [[ll o1
= I B2
ya 0 B1
T
U&} = J _ B
N R )
— A f
T N
<
- %k H-1s z #
B2 o == \
! [
MUP-40 B1 E‘g L1
R AH B1 B2 D1 H1 H2 L1 L2 13 |&EE
6] 6]
[mm] [g]
18 24 70.5 47 5.5 13 7 25 - - 29 150736 MUP-18/25
25 29.5 81 58 5.5 13 7 25 - - 33 150736 MUP-18/25
1.3 32 37 35 22 6.6 - - - 41.5 35 |89 150737 MUP-32
40 46 35 22 6.6 - - - 47 40 [126 150738 MUP-40
50 61 50 26 11 - - - 70 58 |241 150739 MUP-50
63 69 50 26 11 - - - 77 65 |[340 150800 MUP-63
80 85 50 26 11 - - - 88 76 590 158 455 MUP-80

1-103.2 Key products - Subject to change



sg0cts



DGP/DGPL FESTO
kL
DGP
(
N | @G}‘ \‘@T@@‘ i
¢ @ |
@ & &
— I — CERIRXC)
L5 o1_|| 3
L4 B2
B1
€
. o666
&
L1 I
L3
L2
L1 DIN 912
B1 B2 D1 H1 H2 H3 H4 L1 L2
(%)
[mm]
18 29 23 M5 62.7 35.8 3 5 79.6 -
25 39 29.5 M5 76.1 43.5 3 5 105 -
32 43.5 34 M5 87 49 4 131 100
40 50.5 40 M6 104 58 4 8.1 167 130
50 67 55 M8 138.5 75 5 10.5 202 150
63 77 65 M8 156.5 84 6 11.5 230 190
13 L4 L5 CRCY g
(%)
[mm] [g]
18 60 60 20 M5x12 2 227 196 105 AK-18
25 50 50 20 M5x10 380 196 106 AK-25
32 30 100 30 M5x12 690 196 107 AK-32
40 40 130 40 Méx14 1050 196 108 AK-40
50 50 150 50 M8x16 2080 196 109 AK-50
63 70 190 70 M8x18 2820 196 110 AK-63
1) 2 Festo 940 070
Subject to change - Key products 1-103.3

13


sg0cts



DGP/DGPL FESTO
FKP
DGP

( FK

ek

DGP-18 DGP-25 ...80

B9 D1 D1
‘,

o {fi] L I
R $§i’ E © & |
TN ‘ @ @
@ﬂ?@ I

2 L2
D4
D4 B
D5 T % oy ———
— | ] ¢ o[t @
— jl;“i«l 2 i o
L 1] © )
L e i i
— L10
L12 Si
L10
1.3 S 3
[© ST
oo
puEEENE Ot
Nt
170
190
220
B6 B7 B8 B9 D1 D4 D5 H2 H3 H4 L2 L10 L11 L12
%]
6] 6]

[mm]

18 - - 26 30 6 9 M4 43.8 3 57.8 75 40 70 20 158 474 FKP-18

25 20 40 54 50 8 5.5 M5 57 5 75 100 66 80 - 150801 FKP-25/32

32 20 40 54 50 8 5.5 M5 66 5 84 125 66 80 - 150801 FKP-25/32

40 24 44 58 60 10 6.5 Mé 78 6 99 150 76 90 - 150802 FKP-40

50 23 51 71 63 12 9 M8 106 8 130 175 102 122 - 150803 FKP-50/63

63 23 51 71 63 12 9 M8 122 8 146 200 102 122 - 150803 FKP-50/63

80 - - - 94 20 - - 158 13 194.5 | 258 - - - 158 457 FKP-80

1-103.4 Key products — Subject to change



sg0cts



DGP/DGPL FESTO
YSR-...-C
DGPL . T OHE

( c) YSRW

B AV ~

. S\
W
i

6]

[mm] [g]

18 50 34571 YSR-8-8-C

25 70 34572 YSR-12-12-C
32 70 34572 YSR-12-12-C
40 140 34573 YSR-16-20-C
50 140 34573 YSR-16-20-C
63 240 34574 YSR-20-25-C
80 240 34574 YSR-20-25-C

KYP
DGPL
—1
( C) — =
& a ||
o =
B8
KYP
( ( )
KYP
)
YSR-...-C
B8 D1 D5 H2 H4 HH
(%]
[g]

18 14 M12x1 M4 50.5 4.5 65 158907 KYP-18

25 19 M16x1 M5 69.5 6 95 158908 KYP-25

32 25 M16x1 M5 80 8 130 158909 KYP-32

40 32 M22x1.5 M5 102 8 209 158910 KYP-40

50 35 M22x1.5 M8 124 10 415 158911 KYP-50

63 44 M26x1.5 M10 152.5 11.5 609 158912 KYP-63

80 44 M26x1.5 M10 179.5 11.5 774 158913 KYP-80

Subject to change - Key products 1-103.5

13


sg0cts



FESTO

1-104 Key products, GCC-TW — Subject to change — 5 — it



	DGP_TW.pdf
	DGPL_TW



